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P HBZEROREOESE 3.0X10°m/s, BT OHEIL 1.673X10 kg, FHEF O P HZEROKOEEIE 3.0X10°m/s, BT OHEEIE 1.673X10 kg, FHETO
P BRI 1.675X107 kg, tHe BT OEEIL 6.646X10 kg & T %, P BRI 1.675X10 kg, $He BT HOEEIL 6.645X10 kg &£ F %,
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(17.4%10°) X (1.60 X 107%) X (6.02X10%) J = 1.68X10"*J  (38) (17.5%10°) X (1.60 X 107%) X (6.02X10%) J = 1.69xX10™J  (38)
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WOBRIETHEENS T XL F— E(MeV] 2K & ROBRIETHEENE T X ILF— E[MeV] 25K &
H+ 3L — 4He + 4He iH+3Li — 4He + He
H, iLi, He EFOEE% ZNZ1 1.0078u, 7.0160u, 4.0026u, EZE H, iLi, He R OEE*Z 21 1.0073u, 7.0144u, 4.0015u, EZE
FOXDOHES % 3.00x10°m/s, BREE® 1.60X107°C, FOXOES % 3.00x10°m/s, BKFEE%® 1.60X107C,
1lu = 1.66x10"%kg &9 %, 1u=1.66X10"%kg &9 %,
RSEROEEDRHAN ITRILE—E UTRETN S, BEE T RILF—OBECTEER RSE%OEEDRAN IRILF—E UTHRETN S, BEETRILF—OBECER
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Tl RIGHIB TOEEDRAIE  (1.0078 + 7.0160) — 4.0026 X 2 = 0.0186u A RICEIBTOEEOREAIE  (1.0073 + 7.0144) — 4.0015 X 2 = 0.0187u
[E = mc2] (p404(37)=0) & 1 [E = mc] (pa0a(37)=X) & D
E =1{0.0186 % (1.66x107%)} X (3.00x10%)2J E =1{0.0187 X (1.66X107%)} X (3.00 X 10%)%J
1MeV = 10°eV = (1.60x107%) x 10°J ZRHWVT 1MeV = 10°eV = (1.60x107%) x 10°J ZHWT
_ {0.0186 x (1.66 x10~%)} X (3.00%10%)?2 . _ {0.0187 X (1.66<10~%")} X (3.00<10%)? .
E= (1.60x10°7) X 10° = 17.4MeV E= (1.60x10°7) X 10° = 17.5MeV
L 1 . —29K vy —12 1 . 29§, vy —12
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